BURRBIERERE S X

Adjustment method
of fuel injection pump speed stabilizing device

LN R B S REBIEETIZER, EHIEEAR. FEESM, 7
B AR HRE PREERGE, PRAT:

When the diesel engine is running alone or connected with the generator
set , In case of unstable speed and sound of traveling block, it can be handled
by adjusting the speed stabilizing device of fuel injection pump,The steps are as

follows:

1. IR EE LSRR,

1 . Remove cap nuts on the rear lid.

2. WT@A*ﬁél12

2 . Remove the combination seal washer 12




3. HEMMERF M12x1.25, KBETIRESMHEENe, ARiEimkab SRR
BioEmt, BRIEMIEHEATIREE, W ETEESMPANES, FRmEE
HISE. FEERGRBIRE M12x1.25 17K,

3. Remove the combination seal washer 12,Turn the adjusting screw
sleeve inward, Make the head of the speed stabilizing shaft contact with the
speed regulating rocker arm, Then slowly screw in the adjusting screw sleeve,
Listen to the sound of the engine while rotating the adjusting screw sleeve.
When the speed of the diesel engine is stable and the sound is normal, tighten
the nut M12 x 1.25.

L5 EHETIREERRN, ERIEREGETIRE, FETREERE,
BN SEINRAR SN . WHNNRAEE CFENRSKR, MASTETE
ERY, E=MEE,

Warning: when adjusting the screw sleeve to rotate, adjust the sleeve
slowly, do not rotate infinitely, otherwise it may cause insufficient power
or diesel engine to run away. In case of insufficient power or runaway, the

adjusting screw sleeve shall be withdrawn and readjusted.

4. RERSTEEHR,

4. Check the maximum idle speed.



5. IESTFHERFMEEK, W FEMESRASTZHRE 12, xS
TR, NETNREREHI TR,

5 . If the maximum idle speed meets the requirements, install the cap nut
and combined sealing washer 12; if the maximum idle speed exceeds the
standard, adjust the speed stabilizing device again.

183& R] LA ) B W uh ST A L

You can also refer to the video materials on the website of the company.

WE1: REREFESR VU REE

Figure 1 : Schematic diagram of adjusting position of speed stabilizing
device

E4 g combination sealwasher 12

MBI 125 nut M12x125

FRER  Speed cortrol rodkeram

2. B RE R

Figure 2 : Schematic diagram of adjusting screw sleeve components



2o ZHEE  WVEE 2

Bufiershatt,  Buflerspring \ ingscmm Retaining ring 4

[ == = |1
L"_"_ E_x_'_'*” //r/—’

I LRR HEGRAE]
it www.huier.com.cn

BR%E: huier@huier.com.cn

Jiangxi Huier Fuel Injection Equipment Co., Ltd
Website: www.huier.com.cn
E-mail: huier@huier.com.cn



